
 

A. Choose the correct Answer: 

1.  What is the plural of bus? 

(a) buss  (b) busies 

(c) buses  (d) bus 

2.  What is the plural of lady? 

(a) ladys  (b) ladyes 

(c) ladies  (d) ladis 

3.  Choose the correct plural of knife: 

(a) knifes  (b) knive 

(c) knives  (d) knifeses 

4.  Select the word that remains the same 
in plural form: 

(a) child  (b) sheep 

(c) fox   (d) leaf 

5.  Choose the correct sentence: 

(a) My mother have three child.  

(b) My mother has three children. 

(c) My mother has three childs. 

d) My mother has three child.

B. Match the Following 

Match the singular noun with its correct plural form. 

Column A (Singular) Column B (Plural) 

1. man (a) shelves 

2. thief (b) geese 

3. goose (c) thieves 

4. shelf (d) mice 

5. mouse (e) men 

Your Answers: 

1. _____ 2. _____ 3. _____ 4. _____ 5. _____ 

C. Fill in the Blanks 

Write the plural form of the given nouns. 

1. one tomato → two ___________ 

2. one baby → three ___________ 

3. one wolf → many ___________ 

4. one watch → two ___________ 

5. one fly → five ___________

 

Nouns  One and Many 



 

D. Rewrite the Sentences 

Rewrite the sentences using the correct plural forms of the underlined words. 

1. My sister has two puppy. 

2. We saw four deer in the park. 

3. I packed three sandwich for lunch. 

E. Subjective Question 

Write any four rules for changing singular nouns into plural nouns. Give one example for 

each. 


